
CHEMISTRY

BOOKS - MS CHOUHAN

5C ALKYL HALIDES

Level 1

1. Complete the following reaction

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DMZYzlHAKE9x


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DMZYzlHAKE9x


2. In the reactions given below, 

 


 


the compounds A and B are :

A. chain isomers

B. position isomers

C. functional isomers

D. metamers

Answer: C

Watch Video Solution

R − Cl
( i )KCN , ( ii )LiAlH4

−−−−−−−−−−−−−→ Product A

R − Cl
( i )AgCN , ( ii )LiAlH4

−−−−−−−−−−−−−→  Product B

3. Which is the major product expected from the following  reaction? 
SN 2

https://dl.doubtnut.com/l/_ehN4gGIwAdS2
https://dl.doubtnut.com/l/_6xa3MntwDeZQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6xa3MntwDeZQ


4. Consider the following  reaction

A. A) 1,2 and 3

B. B) 3 and 4

C. C) 2 and 3

D. D) 1,2,3 and 4

Answer: A

Watch Video Solution

E1 /SN 1

https://dl.doubtnut.com/l/_SEprirnvGPV1


5. What is the product ofthe following  reaction? 

A. 

B. 

C. 

SN 2

https://dl.doubtnut.com/l/_QKTkRdQZIgUY


D. 

Answer: A

Watch Video Solution

6. Select the reagent that will yield the greater amount of substitution on

reaction with  - Br:

A.  in dimethyl sulfoxide (DMSO)

B.  in dimethyl sulfoxide (DMSO)

C. Both (a) and (b) will give comparable amounts ofsubstitution

D. Neither (a) nor (b) will give any amount ofsubstitution

Answer: A

Watch Video Solution

CH3 − CH2

CH3CH2OK

(CH3)2COK

https://dl.doubtnut.com/l/_QKTkRdQZIgUY
https://dl.doubtnut.com/l/_1yAcdZHm2grJ


7. Under the specified conditions, substrate X undergoes substitution and

elimination reactions to give products A-D. A and B are stereoisomers, but

not enantiomers. C and D are enantiomers. A is not an isomer of C. Which

of the following could be the starting material X? 

 

A. (I)

B. (II)

C. (III)

D. (IV)

Answer: C

Watch Video Solution

X
H2O
−−→

Δ
A + B + C + D

https://dl.doubtnut.com/l/_1yAcdZHm2grJ
https://dl.doubtnut.com/l/_84in72iuesYh


8.  


Compare the of  reaction :

A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

CH3

CH3

∣

C
∣

Br
( a )

− CH3     CH3 − C
∣

Br
( b )

H − CH3,     CH3 − C
( c )

H − Br

E2

c > b > a

a > b > c

b > a > c

c > a > b

9. Which reaction results in the formation ofa pair of enantiomers ?

A. 

B. 

https://dl.doubtnut.com/l/_bgkwZ97YIYJH
https://dl.doubtnut.com/l/_x7P7y2AGjhDE


C. 

D. 

Answer: B

Watch Video Solution

10. Rate limiting  follows the sequence 


 


True statement about sequence on the basis of assumption that R

contains 3 different groups is :

A. more stable carbocation, greater is in the proportion of

racemization

B. the more nucleophilic the solvent greater in the proportion of

inversion

SN 1

https://dl.doubtnut.com/l/_x7P7y2AGjhDE
https://dl.doubtnut.com/l/_jpznTXw8zoZl


C. In above sequence (b) represent separately solvated, pair ofions

D. All of these

Answer: D

Watch Video Solution

11. Compare the two methods shown for the preparation of carboxylic

acids: 

 


Mehod 1 :  


Method 2 :  


Which one of the following statements correctly describes this

RBr
Mg

−−−−−−→
diethyl ether

RMgBr
1 .CO2

−−−−→
2 .H3O+

RCO2H

RBr
NaCN
−−−→ RCN

H2O ,HCl
−−−−−→

heat
RCO2H

https://dl.doubtnut.com/l/_jpznTXw8zoZl
https://dl.doubtnut.com/l/_Th9kAHSnlSJg


conversion ? 

A. Both method 1 and method 2 are appropriate for carrying out this

conversion

B. Neither method 1 nor method 2 is appropriate for carrying out this

conversion

C. Method 1 will workwell, but method 2 is not appropriate

D. Method 2 will workwell, but method 1 is not appropriate

Answer: C

Watch Video Solution

12. Which of the following statements is true?

https://dl.doubtnut.com/l/_Th9kAHSnlSJg
https://dl.doubtnut.com/l/_GvSdSzsgGZEv


A.  is both a stronger base and more nucleophilic than 

B.  is a stronger base but is less nucleophilic than 

C.  is a weaker base but is more nucleophilic than 

D. is both a weaker base and less nucleophilic than 

Answer: C

Watch Video Solution

CH3CH2S
−

CH3CH2O
−

CH3CH2S
−

CH3CH2O
−

CH3CH2S
−

CH3CH2O
−

CH3CH2S
−

CH3CH2O
−

13. In the given pair of alcohols, in which pair second alcohol is more

reactive than first towards hydrogen bromide?

A. 

https://dl.doubtnut.com/l/_GvSdSzsgGZEv
https://dl.doubtnut.com/l/_r8jo6wx65Ymn


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − C
∣

OH

H − CH2 − CH3  and CH3 − CH2 C
∣

CH3

H − CH2 − OH

CH3 − C
∣

OH

H − CH2 − CH3 and (CH3)2 C
∣

OH

− CH2 − CH3

14. Which product would be expected to predominate in the given

reaction ? 

A. 

https://dl.doubtnut.com/l/_r8jo6wx65Ymn
https://dl.doubtnut.com/l/_zmdcsIY3lkW7


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

15. Which is the major product of the following reaction? 

A. 

https://dl.doubtnut.com/l/_zmdcsIY3lkW7
https://dl.doubtnut.com/l/_mknKFbJfsrNa


B. 

C. 

D. 

Answer: C

Watch Video Solution

16.  Major

product ofthis reaction is :

https://dl.doubtnut.com/l/_mknKFbJfsrNa
https://dl.doubtnut.com/l/_BBbNXc6QvKRS


A. A) 

B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BBbNXc6QvKRS


17. Rate of  reaction is : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SN 2

(B) > (A) > (C)

(C) > (A) > (B)

(A) > (B) > (C)

(A) > (C) > (B)

18. 1-2 dichloro ethane +  


Unknown product CP) ofthe above reaction is :

NaSCH2CH2SNa → C4H8S2(P )

https://dl.doubtnut.com/l/_SbauvSZHyvAC
https://dl.doubtnut.com/l/_5ivSnsps7aY1


A. A) 

B. B) 

C. C) 

D. D) 

Answer: A

Watch Video Solution

H − S − C
∣

H

= C
∣

H

− CH = CH − S − H

H − C
∣

H

= C
∣

H

− CH = CH − S − H

19.  


Major product (A) is :

https://dl.doubtnut.com/l/_5ivSnsps7aY1
https://dl.doubtnut.com/l/_WPsb9KSSYRsA


A. A) 

B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WPsb9KSSYRsA


20. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Me − O − CH2 − CH2 − CN

21. In the given pair of compound, in which pair the second compoundis

more reactive than first toward  reactionSN 2

https://dl.doubtnut.com/l/_CeafxmdenRb2
https://dl.doubtnut.com/l/_lIhiNwpPCyOl


A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

22. Which compound might be synthesized by the  displacement of

an alkyl-halide ?

A. 

B. 

C. 

D. All of these

SN 2

Me3C − OCH3

https://dl.doubtnut.com/l/_lIhiNwpPCyOl
https://dl.doubtnut.com/l/_C6WVXS32fK0D


Answer: D

Watch Video Solution

23. Identify C in the following series 

A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

C3H7I
KOH
−−→
alc .

A
NBS
−−→

Δ
B

KCN
−−→
alc .

C

(CH3)2CH − CN

CH2 = CH − CH2CN

Br − CH = CH − CN

CH2 = CH − C
∣

Br

HCN

24. What sequence of reagents is required to accomplish the following

transformation ?

https://dl.doubtnut.com/l/_C6WVXS32fK0D
https://dl.doubtnut.com/l/_ClvciGn9vFhQ
https://dl.doubtnut.com/l/_Pb9mQ1VTyJRz


A. (1) NBS,ROOR (2)

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2O
− ( 3 ) 2HBr(4)NH −

2
(5)  disiamyl borane (6)H2O2, OH −

(1)Cl2hv(2)OH − , heat, (3)2HCl(4)OH − , heat(5)HgSO4, H2SO4

(1)NBS, ROOR, OH −DMSO

(1)Br2, hv(2)  t-butoxide(3)BH3, THF (4)H2O2, OH −

25. Which of the reagents shown below would accomplish the following

transformations? 

https://dl.doubtnut.com/l/_Pb9mQ1VTyJRz
https://dl.doubtnut.com/l/_hKTL8fphI8Jx


Watch Video Solution

26. What are the products obtained from the following reaction? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_hKTL8fphI8Jx
https://dl.doubtnut.com/l/_szg5GKtDxfPF


Answer: B

Watch Video Solution

27. The back-side attack on 2-bromobutane by methoxide 

gives the product shown below. Which Fischer projection represents 2-

bromobutane used as the reactant in this reaction ? 

A. A) 

(CH3O
− )

https://dl.doubtnut.com/l/_szg5GKtDxfPF
https://dl.doubtnut.com/l/_Z5jnlDL714JX


B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

28. Consider the following statements: 

(1) Bridgehead halides are inert towards both  reactions (till

oneofthe ringsize is eight member ring) 

SN 1 and SN 2

https://dl.doubtnut.com/l/_Z5jnlDL714JX
https://dl.doubtnut.com/l/_xdOFAeTeAlOL


(2) The first step in both  and  reactions is the same 


(3)  reactions proceed with total retention of configuration 

(4)  eliminations are by the use of a solvent of low polarity and high

concentration of a strong base 

Which of the above statements are correct?

A. A) 1,2 and 4

B. B) 1 and 3

C. C) 2,3 and 4

D. D) 1,2,3 and 4

Answer: A

Watch Video Solution

SN 2 E1

SN 2

E2

29. Consider the following akohols 

 


https://dl.doubtnut.com/l/_xdOFAeTeAlOL
https://dl.doubtnut.com/l/_Gxm2hgvgIIu5


The order of decreasing reactivities of these alcohols towards

substitution with HBr is :

A. A) 

B. B) 

C. C) 

D. D) 

Answer: A

Watch Video Solution

III > I > IV > II

III > I > II > IV

I > III > IV > II

I > III > II > IV

30. In solvolysis of 1,2-dimethyl propyl p-toluene sulfonate in acetic acid at

, how many (alkene + substitution) products will be formed ?

A. 2

B. 3

C. 4

75∘C

https://dl.doubtnut.com/l/_Gxm2hgvgIIu5
https://dl.doubtnut.com/l/_TE8O6dGSuON3


D. 5

Answer: D

Watch Video Solution

31. Benzotrichloride reacts with milk of lime to form :

A. A) Benzal

B. B) Benzoic acid

C. C) Benzyl alcohol

D. D) Phenol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TE8O6dGSuON3
https://dl.doubtnut.com/l/_cQLoFjnPmr56


32.  Product of the

reaction is :

A. 

B. 

C. 

D. 

Br − CH2 − (CH2)2 − CH2 − Br + CH3NH2 →

https://dl.doubtnut.com/l/_pkmiN4fN7X0X


Answer: B

Watch Video Solution

33. The configurations of the reactant and the product in the following

reaction, respectively, are 

A. R,R

B. R,S

C. S,R

D. S,S

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pkmiN4fN7X0X
https://dl.doubtnut.com/l/_9t9T5uHJalgC


34. 1-4-dichlorohexane (1 mole) + NaI (1 mole)  Product of the

reaction is :

A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

Acetone
−−−−→

Cl − CH2 − CH2 − C
∣

I

H − CH2 − CH3

I − CH2 − CH2 − C
∣

Cl

H − CH2 − CH3

H2C = CH − C
∣

Cl

H − CH2 − CH3

I − CH2 − CH2 − CH2C
∣

Cl

H − CH2 − CH3

35. Alkyl halides can be obtained by all methods except:

A. 

B. 

CH3CH2OH + HCl/ZnCl2 →

CH3 − CH2 − CH3 − CH2

Cl2 /UV light
−−−−−−−→

https://dl.doubtnut.com/l/_9t9T5uHJalgC
https://dl.doubtnut.com/l/_hZxpmE6ECjrq
https://dl.doubtnut.com/l/_E8nb4IM15uRy


C. 

D. 

Answer: C

Watch Video Solution

C2H2OH + NaCl →

CH3COOAg + Br2 /CCl4 →

36. In order to prepare l-chloropropane, which ofthe following reactants

can be employed ?

A. A) Propene and HCI in the presence ofperoxide

B. B) Propene and  followed by treatment with aq. KOH

C. C) Propanol-l and  /pyridine

D. D) Any of the above can be used

Answer: C

Watch Video Solution

Cl2

SOCl2

https://dl.doubtnut.com/l/_E8nb4IM15uRy
https://dl.doubtnut.com/l/_BjNKiNZgqJit
https://dl.doubtnut.com/l/_Wo8S5XuJRlzY


37. Which alkyl halide has maximum density ?

A. A) 

B. B) 

C. C) 

D. D) 

Answer: A

Watch Video Solution

C3H7I

C2H5I

CH3I

CH3Br

38. Which of the following molecules would have a carbon-halogen bond

most susceptible to nucleophilic substitution ?

A. A) 2-fIuorobutane

B. B) 2-chlorobutane

C. C) 2-bromobutane

D. D) 2-iodobutane

https://dl.doubtnut.com/l/_Wo8S5XuJRlzY
https://dl.doubtnut.com/l/_lxAKfkRncryt


Answer: D

Watch Video Solution

39. When benzyl chloride is treated with ethanolic KCN, the major

product formed is:

A. A) benzyl ethyl ether

B. B) benzyl alcohol

C. C) benzyl cyanide

D. D) benzyl isocyanide

Answer: C

Watch Video Solution

40. Which ofthe following is most reactive towards nucleophilic

substitution reaction ?

https://dl.doubtnut.com/l/_lxAKfkRncryt
https://dl.doubtnut.com/l/_1ucWkYsbNOUP
https://dl.doubtnut.com/l/_I6YXkFVs6Dum


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH − Cl

C6H5Cl

CH3CH = CHCl

ClCH2 − CH = CH2

41. Which of the following reaction will not give ether as a major product?

A. 

B. 

C. 

D. 

Answer: B

CH3CH2Cl + Ag2O(dry) →

(CH3)3CCl + CH3CH2O
−Na+ →

CH3Cl + Na+O− −

CH3

∣

C
∣

CH3

− CH3 →

https://dl.doubtnut.com/l/_I6YXkFVs6Dum
https://dl.doubtnut.com/l/_k3rkjkUV33DI


Watch Video Solution

42. 


Product (A) and (B) in above reaction is : 

Watch Video Solution

43. Which of the following would be true for the reaction shown? 

https://dl.doubtnut.com/l/_k3rkjkUV33DI
https://dl.doubtnut.com/l/_ZrLC55WwkZMV
https://dl.doubtnut.com/l/_BQkiOmFpFUH9


A. The rate ofthe reaction depends only on the alkyl bromide

concentration.

B. The rate ofthe reaction depends only on the methanol

concentration

C. The rate of the reaction depends on both the alkyl halide

concentration and the methanol concentration.

D. The rate ofthe reaction depends on the concentration ofneither

reactant.

Answer: A

Watch Video Solution

44. The correct order ofrate of  is : is :

A. 

SN 1

https://dl.doubtnut.com/l/_BQkiOmFpFUH9
https://dl.doubtnut.com/l/_B62pjQ8xYsuM


Level 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

1. The following organic halide derivatives (A to J) are reacted in ethanol

solution with each of the nucleophiles : acetate, methylthiolate, cyanide

and hydroxide anions. Six possible results from these combinations of

reactants are designated (1) through (6) below: 

Write the number corresponding to your best estimate of the outcome

https://dl.doubtnut.com/l/_B62pjQ8xYsuM
https://dl.doubtnut.com/l/_KpNequaLir2w


ofeach reaction in the appropriate answer box below. 

View Text Solution

2. In each of the following sections three organic halogen compounds are

listed. In the box given enter a number (1 to 3) indicating the order

https://dl.doubtnut.com/l/_KpNequaLir2w
https://dl.doubtnut.com/l/_c2TK5UoAbwQK


ofreactivity ofthe designated (1 is most reactive and 3 is least). 

Watch Video Solution

3. Isobutyl alcohol (2-methyl-1-propanol) , can be

transformed to each of the compounds (a through 1) listed in the left-

hand column. In each case the number of steps needed to accomplish the

change is noted, and an answer box is provided for your reagent Write

letters designating the reagent or reagents you believe will achieve the

desired transformation in the box to the right of the product formula. In

the case of a multi-step sequence write the reagents in the order they are

to be used. In some cases you maywish to use a previously prepared

compound as a reactant. If so, write the number (a to 1) corresponding to

(CH3)
2
CHCH2OH

https://dl.doubtnut.com/l/_c2TK5UoAbwQK
https://dl.doubtnut.com/l/_5bfbAj36IPgb


Level 2 Subjective Problems

the desired compound. 

View Text Solution

https://dl.doubtnut.com/l/_5bfbAj36IPgb


1.  


X = Total number of substitution and elimination product(s). Find the

value of X.

Watch Video Solution

https://dl.doubtnut.com/l/_cesogwPKjeKH

